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|P(x) — f(x0)| =




B FEAE T 22 T Q) e 22 5 12 o
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B XS R R 2 WP (x), HOTREN

1
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KF(x) = V1 + x246[0,1] ERIBAE—RGEIT £
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B HR(3.2.7)AEH
a; =V2—1= 0414
B A, BT (xy) =ay, AIfR

X
2 =\/§—1
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m

V2 -1
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Ao

#3.1 (&

B HA(3.2.8)%

2

b—a 2

a():

1++1+x3 X5
2

Dy

aq 7 ~ (0.955

B 15f(x) =V1+x215Hf

[

P;(x) = 0.955 + 0.414x

B RERN

max
0<x<1

s
J1+x2 ~ 0.955 + 0.414x, 0<x<1 (329

J1+x2 - Pl(x)‘ < £(0) — 0.955 = 0.045

B EXB29)THESx =2 <1, BEIELRRAR
Ja2 + b2 ~ 0.955a + 0.414b
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If () = POl = f [F () — P(O)]2 dx
V a
f () fE[a, b] E R s A7 i@ i 2 W2
B SA7{EP;(x) € H,, 1

b
\f Pl = f F(0) = PrGO)1? dx = inf IIf = Pll,

PEH,
\

a2 AR 2 [R] D 36 R0 R




PLRRIEY
EX3.4 WIEX I (a, b)), AET R Ep (x)iFh 2
DU 261, PR p () NIX Al (a, b) N ERIA R 4
1. f |x|"p(x)dx (n=0,1,2,.)F1E
2. XT?EIEﬁEI’Jx_?ﬂ* Hg(x),

fa gx)p(x)dx =0 (3.3.2)

MAE(a, )N g(x) =0
p (X)X (a, b) N 1Y R T E

RIS ]

p(x) = T




R A3 R

ENX3.5 Wf(x),g(x) € Cla,b], p(x)r
[a, b] EWIA R, R

b
(f,9) = j p(0)f (0)g(x) dx (33.3)

FRNRELf () 5 g(x)TE[a, b] L HT A
By = STERVEIA RN ST Pl NI U S/ i

1. (f,9)=@.f)

2. (cf,g9)=c(f,g9), cHHE

3. (it+/29) =L+ (f2,9)

4. (f,f) =0, ZBHNAfF =0W(f,f)=0




PR 20 (R R™ A ) P AR A 2R

Bf = (fifor s [T ERT, g =
(g1, G2, r Gn)T € R™, HNFE A

(f,9) = z fr 9k
k=1

f e R"HE (FBHD E XN
IFll, = V. 1) = (Z ﬁ?)
BB PR AL

N[



AR
EX3.6 f(x) €ECla,b
Ifllz =+, f) =

HNF(x)HIEuclidin (/WE WA =

i

\Ja

p(X)f ?(x) dx

EH3.5 X TAEM f(x), g(x) € Cla, b]

ZE R ROL

L. 1ol < Ifll2llgll; (Cauchy-SchwarzA=F
< Ifllz + llgllz (ZAAZEZO

=2(IIf 15 + llgli3) CF

2. If +4ll; <

3. Wf+glz+If —gll3
U KES)

(3.3.4)
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AT
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EN3.7 &Hf(x),g(x) € Cla, b]i#i &
b
(F.9) = | pef g dx = 0 (33.7)

a

)”'J Mf 5 gfE[a, b] Ll p(x) 1532
BRI R Qo (%), 91 (), ) @ (X)), W LR R

b .
(97, 9x) = L PP ()i (x) dx = {Z’R >0, j . I,z (3-3.8)

MFR{ @} 2 [a, b] LB p (x) B IEAZ BRI EU
A, =1, WE @ Y PRHEIEAS BRZ G




25451
wlin, = ff ek EU

1,cosx,sinx,cos2x,sin2x, ...

gtAe X 8] [—m, ] BRI IEARR BREE (Blp(x) = 1)

7N (1,1) =2
. . T _ T, m=n
(sinnx,sinmx) = f sinnx sinmx dx = {0 m=n (nm=12,..)
T T, m=n
(cosnx,cosmx) = j cosnx cosmx dx = {O m = 1 (nm=12,..)
—TT )

T
(cosnx,sinmx) = j cosnx sinmxdx = 0 (n,m=12,..)
-1
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TE X 3.8 Wpo(x), p1(x), ..., r_1(x)1E[a, b] I

ééﬂ;’ ﬁﬂ7<
aoPo(x) + ayp1(x) + -+ ap_19p-1(x) =0
G HNHay =ay = = ap_; = OB RO, N

Moo (x), 01(%), ..., 01 (x)E[a, b] FR=ZVET
K

B { @, }(k = 0,1, .. )FHAEATE R @4
28R, )”J /J\{<Pk}7il%% 1 I % oK B

B 1,xx2 .., x" .. B2 a, b] b To % R




TR R EL (22)

%fpo(x)» (pl(x)r ) (Pn_l(X)T\E[a b]J:EI‘]é%‘fi?ﬁ?‘%

FH, Flag ay, .,y AT B9
S5(x) = agpo(x) + a;0,(x) + -+ ap_10p-1(x)

f1ek2Cla, b]TH T —4 15, idfE

@ = span{@g, P1, ..., Pn—1}

EH3.6 Po(x), P1(X), ..o, P 1(x)f[a b]J:é)%f
ToRM) 782 55 2 bEI’JCrameMTﬁJEEGn L #0

(0, 90) (@0, 91) (@0, Pn-1)

Gn-1 = G(Po, P1) ) Pn-1) = (gazl,gg()) (901,9:01) (<P1,:§0n_1)

(¢n—1;§00) (¢n—1'§01) ((pn—lr(pn—l)



SR 0R SEE S B B

XF(x) € Cla,b], KCla, BI— T4 =
span{@g, @1, ..., Pn} %T?YES*(JC) € P, fi

If = S*I3 = infllf - SI% = inf f p@If() — S dx  (33.11)
MFRS* (x) A2 f () TED H B Fe 1 7 18 1T PR %Y
BN, RKS*(x) ’jf—%l—*j?yﬂz 2l

b
(@ @1, v@) = [ 90| a0 = f00 | ax
a =0 |
8/ ME
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SR 3 & I pR &R

B HTI(ay aq,.., a,)eRkTay aq, .., a, ' IXKEL,
M 22 7o eR B AR 1) 16 B 25 A

ol =0(k=0,1
T aak_ (k=01,..,n)

ol b - |
PR j p(x) 2 aj@j(x) — fx) | pp(x)dx =0(k =0,1,..,n)
a ]=0 |

o ?%ﬁ
Z(wk 9j)a; = (f, o)k =0,1,...,n) (3.3.13)
Eaé?ao, ay, .., A MIERNVETTREH, FRONETT RS



Y

KA AT @ R (52)

B T o,(x),0(x),.., 0,08 T, WAREITH
G (Qg, 1, 0y On) =0, T TFEH(3.3.13)F ME
—fha, = ap(k =0,1,...,n), MM

5%(x) = agpo(x) + ajo,(x) + -+ ane,(x)

B TS (o) 2 X (3.3.11)
b
IF = 5713 = nfllf = I = inf | pIFGO) — G dx (331D

HIXTAEATS € @
b b
f p()[f(x) —S*(x)]?dx < j p()[f(x)—Sx)]*dx  (3.3.14)

a



>R Bt

uyes

31 5 18 T pR

B N HEERE
b b
=f p(x)[f(x)—S(x)]de—f p(OLf () = §* (]2 dx

B (42

b b
= j p()[S(x) — " (0] dx + 2 f p(IIS(0) = S*(OIIf () — $* (0] dx
B TS ()R a w2 T HETTFE

al

A

b n
5a =2 P@|Y @0 - F@)

=0

I

Pr(x)dx =0(k=0,1,..

b
f P () — S* ()] r() dx = 0(k = 0,1,2, ..., n)

, M)



Y

SR 7B PR B (52)
B Oyt REEE
- | pCIF () - SGIJ? dx — | I - 5P dx

b b
= j p()[S(x) — S*(x)]* dx + 2] p()[SCx) — S*C)][f (x) — S (x)] dx

b
f pISE) = S* I — S ()] dx =

S(x) — S*(x)— & LAE i
@1(%), ..., n () ZRVEH 5

b
f P () — S* ()] pr() dx = 0(k = 0,1,2, ..., n)



KR E P T BIT R (52)
ISl
b b
p= [ plfe) - s dx = [ pIF() - 5 I

b
= [ p@Is@ - 5" @ dx 2 0

B TR33.14) . XHHE TS (o) KRS ()T
@ T [ B A T 18 3 PR AL

b b
| p@If) -5 P dr < | pIf@ -s@Pdx  (3314)
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L P 7S B ML T 78 2

48 = f(x) — S*(x), MFHIREEN
18117 = (f =S f =S
= (f'f_S*)_(S*'f_S*)

PHLE

—_—

—1a

rb
Ja
TFH(S™, f =57 =0, itk

n

1813 = (£, = (£, = IfIE = ) ai(@nf) (33.15)

k=0

p(OIf (x) = S () ]@r(x) dx = 0(k = 0,1,2, ..., n)




£

o, (x) = xk, p(x) =1, f(x) € C[0,1], Ef
SEE H, 1 Rn B 7 B £ 0%

S*(x) =apy+ajx+ -+ apx"
m [

Z((pkl (pj)aj — (f' (Pk)(k — 0,1, ...,Tl) (3313)
j=0

_ i) .
(@ 00) =,

(f'(pk) :J



2545 (52
B R, SRARED T3 5] £ B

Ha =d
B HERITHIRG, = G(1, x, x2, ..., x™) X N H) 5 B
1 1/2 ..  1/(n+1)
- 1/:2 1:/3 1/(7:1 +2)| (3316
_1/(n'+ 1) 1/(n.+ 2) .. 1/(2.n+1)_
HFR AHilbertsE 4
_ Il

a = (ao, a]_, seny an)T d — (dOi dli ey dn)T

de = (f,x¥)(k = 0,1,...,n) (3.3.17)



di = (f,x*)(k=0,1,..,n) (3.3.17)

#13.2

Kf(x) = V14 x27E[0,1] EH)— kAT 7 &
1T 22 T
B {1:(3.3.17)A]

1 1 \/E
do=f \/1+x2dx=51n(1+\/§)+7z1.147
0

1_2\/5—1
0= 3 ~ 0.609

1 1 3
dlzfx 1+x2dx=§(1+x2)2
0

B iE TR

(ao) _ (1.147)
ai) ~ \0.609

Wi e

1
1
2



#13.2 (&8)

B R, =F
ap = 0934, a;=0426, S;=0.934+0.426x

B PR 1
18113 = C£,1) = (£,59) = IFI3 = ) ailgio /)

k=0

1
= j (1 + x%)dx — 0.426d; — 0.934d, = 0.0026
0

B KiRZE

10| = max
0<x<1

J1+x2 — Sf(x)‘ — 0.066



n] i@t

{1,x,x%, ..., x"MEROR I A1 7 1@ 1T 22 T
ém@ﬁﬁ,%ﬁﬁ@KGBMwaT‘
*% RIETTFE S NRZEIRK

Ha=d
1 1/2 v 1/(m+ 1)
go| 172 1/3 « Y@+ (3316
1/m+1) 1/(n+2) .. 1/(2n + 1),

R T % RS 2 IR 2




